s
ﬂN_l‘
olL
o
N
=
[NV}
|
=
_|_
&
=
[
[\&)
Q
+
D
Il
o
1o

St

hi

0] 23 cos 30° ¢ o,

i}%olzﬁxg:t‘i"lﬂi

x 2 grofl thdshA
9-(a+5)x3-2a+6=0




o2 4] 2x2 — x —2V3x 4+ V3 =10 9 T 29| tanA, cosA & o,
sinA 9] g2 Fotoizt
(F, 0° <A <90°% tanA > cosA)

> E

> He:

V3
2

~EB ~
2x2 —x—2vV3x+ V3 =0
2x% — (1+2V3)x+ V3=0

1
(2x—1)(x— \/5) =0.. x=g TE=x=13
m2hA tanA = V3 ©]1 cosA = % o|B = /A =60°,
sind = sin60° = V3 o]c}.

2




3. sing:cos60°?—:1uﬂ,x9]%k%?5}°qa}. (T 0°<x<90°)

o

Ch
| — ]

>
> &g 60°




4. T I-L o§oto] tan15° o] S otole

A
\
6
5° 0°
B D C
> =
> ZE: 2-48
tan30°=i:ig
cbh 3
CD =63
BD=AD = /(6V3)2+62 =12
6 1 2-+3
. tan15° = = = =2-13
124+6vV3 2+ V3 4-3




the 27olA A4 PT 79 0 o B4 o, o] 9] 8L T3}
ofet.

/APT = /PBA = /PB’A = 30° 0|2 &
PA 4

sin 30° = = 1
____ BP BP 2
. BP=28




6.

R EE R e

=90° Q1 AABC 94l AD = CD = BC =42

o], /ABD = x 2t & o}, tan x 9] Ft2 Fstoet

i

\VARR 4
0
o
W =

A

~&B

A

4.

Wl
B c

AE

stanx = — =
BE

4 AclA BD O] @gAle] L& 40 B2 Eat
ADBC & ADAE( AAS)

BD=8,DE=AE=4
AABE ©|A BE =

12 3

i

ol

BD + DE = 12 o|t}.
4 1




%mﬁ— 2

y:

3
o W
_z*._va
x
LT
= .
~ oy
R
_I.xo o
___21_#_'11
y,.__x_o_e
T M RE
N O or
CO
U
o™
op T B
T 50 ol

7.

— |

A A

BK

10
5 ol

w2tA tan @




8.

th 1304 AABC €} ADBC = 22k /BAC = /BCD = 90° ¢l &
2ol /DBC = 30°, /ZACB =45°,CD =10 € W}, AC+BD

o] Zk2?
A D
E \
10
]
° o /
B 30 45 /C
@® 10V3 +17 @ 10V3+20 ® 5v6 4+ 10
@5\/6+20 ® 20-5v6
DC 10 1 —
BD Al si °—  _—___ —— =-_ _ BD=2009°
ABDC ©J|A] sin 30 ==5 5 0 olct
, BC BC V3 __
&, cos 30 _ﬁ_%_T’B = 10V3 o|th
AC AC V2
ABC 9|~ g5e="= = — = =2 AC=5+V6°
A ol A cos = T 5 V6 o]t
watA AC + BD = 20 4+ 56 ©|tk




oh& 2-3 o] LA = 60°, AB =
5cm , AC = 9cm €1 AABC ©f|A BC
of Zo]g Fafolet.

>
> H= . V61 cm

BH = 55in60° = 5 x %g - %g(cm)

AH = 5c0s60° = 5 x % = §(cm)

2
5 1
CH— —é—g(cm)
2
— /(53 <13)2
B _\/<T> V)
_ [T 18
V4 4
— /24 _ Bi(cm)




10. 5 A A, C Afo]o] A2)g eropis] A
919 @22 17} o] st
A4 A, C Aolo] A2E ool

2

50m

> = cm
> FEH 10V3lem
AC = /(25V3)2 + 352
= /1875 + 1225
= /3100




11. ©h8 1389 AABC oA AACH Ed]2] do|=?

2(2+ V3 + V6) @ 2(2+ V2+ V)
203+ V3+ V7) @2(2+\/§+«/7)
2(2+ V3 - V7)

~&B

CH 9] Zo]= 4 xsin60° = 2V3
AH 9] Zol=6-BH=6—4cos60° = 4

AC o] ol /42 + (2V3)2 =27

wehd AACH E7]9] Z0]= 2344427 = 2(2+ V3+ V)
o},




12. o8 1389 AABC 94 /ACB = 135°, AC = 6cm ©]t}. AB 9
Zdol& Fotd?

@ 6cm @6\/§cm ® 6V3cm
@ Tcm ® 7vV2cem

~&B ~

cos45°=CTH
ﬁ=600545°:6x\/7§:3\/§(cm)
AH = CH=3V2 (cm)
s1n30°=%
AB=3V2+-=6V2 (cm)




